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	13.	 What type of reaction takes place when propan-1-ol is formed from propanoic acid?

A	 Condensation

B	 Hydrolysis

C	 Oxidation

D	 Reduction

	14.	 The boiling points of the alkanes increase as the carbon chain length increases due to the 
increasing strength of

A	 covalent bonds

B	 hydrogen bonds

C	 London dispersion forces

D	 permanent dipole to permanent dipole interactions.

	15.	 Which of the following is not a correct statement about the effect of a catalyst?

A catalyst

A	 increases the energy of molecules so that there are more successful collisions

B	 lowers the energy that molecules need for successful collisions

C	 provides an alternative reaction pathway to the products

D	 increases the rate of reaction.

	16.	 5 moles of ammonium phosphate, (NH4)3PO4, contains how many moles of positive ions?

A	 3

B	 5

C	 12

D	 15
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	17.	 A reaction has the potential energy diagram shown.
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The enthalpy change for the forward reaction is

A	 X – Y

B	 Y – X

C	 Y – Z

D	 Z – Y

	18.	 Consider the reaction pathway shown.

CO(g) +   O2(g) 

−283.0 kJ mol−1 −393.5 kJ mol−1 

C(g) + O2(g)

CO2(g)

X 1
2

According to Hess’s law, the enthalpy change, in kJ mol-1, for reaction X is

A	 -676.5

B	 -110.5

C	 +110.5

D	 +676.5


